& {g}%} @ p Multiplizieren Sie Dezimalzahlen mit

Zehnerpotenzen
Name: Datum: Ergebnis:

5,127 x 10 = 9, 685 x 100000 =

9,482 x 1000000 = 3,526 x 10 =

2,232 x 10 = 7,958 x 10 =

5,127 x 100 = 4,482 x 10 =

4,227 % 1000000 = 9,273 x 10000 =

8,774 x 100000 = 8,816 x 10 =

2,952 x 100000 = 4,186 x 100 =

1,674 x 100000 = 2,951 x 1000 =

1, 644 x 1000000 = 8,171 x 10000 =

8, 146 x 1000000 = 5,53 % 100 =
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& %%} @ p Multiplizieren Sie Dezimalzahlen mit

Zehnerpotenzen
Name: Datum: Ergebnis:

5,127 x10=351.27 9, 685 x 100000 = 968500
9, 482 x 1000000 = 9482000 3,526 x 10 = 35.26
2,232 x 10=22.32 7,958 x 10 =79.58
5,127 x 100 = 512.7 4,482 x 10 =44.82
4,227 x 1000000 = 4227000 9,273 x 10000 = 92730
8, 774 x 100000 = 877400 8,816 x 10 = 88.16
2,952 x 100000 = 295200 4,186 x 100 = 418.6
1,674 x 100000 = 167400 2,951 x 1000 = 2951
1, 644 x 1000000 = 1644000 8, 171 x 10000 = 81710
8, 146 x 1000000 = 8146000 5,53 x 100 = 553
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